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WOMEN’S STUDIES
PAPER - 11

Note : This paper contains seventy five (75) objective type questions of two (2) marks each.

All questions are compulsory.

Who amongst the following first
propounded the theory of liberal
feminism ?

(A) John Stuart Mill

(B) Harriet Taylor

(C) Mary Wollstonecraft

(D) William Thompson

Which of the following statements is

not related to eco-feminism ?

(A) Development leads to
ecological and cultural rupture
of bonds with nature.

(B) Development and  global
markets have made
homelessness a cultural trait.

(C) Development leads to
impoverishment of women,
children and the environment.

(D) New technologies always
provide the opportunity to
women in traditional economy

Women’s emancipation must be won
primarily by women themselves.
Who first propagated this idea among
the following thinkers :

(A) Clara Zetkin

(B) Elizabeth Cady Stanton

(C) Charlotte Perkins Gilman

(D) Emma Goldman

Match the major schools of thought
with their respective ideologies :

List— 1| List—11
a. Inclusion of i. Modern
domestic labour in Marxism
productive labour
b. Capitalist ii. Radical
patriarchy feminism
c. Critique of man  iii. Socialist
made language feminism
d. Liberation from iv. Modern
domesticity liberal
feminism
Codes:
a b c d
(A ivoodi i i
(B) iii i v
< i i v i

O) Qi i i i
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Which of the following is related to
the term ‘Empowerment’ ?

(i) Powerto

(i)  Power over

(iii) Power with

(iv) Power within
Codes :

(A) (@), (i), (iii), (iv)
(B) (i) and (iv) only
(C) (iv) only

(D) (ii) and (iii) only

Among the following, which is not a
contraceptive method ?

(A) Depo-Provora
(B) Nor-plant

(C) Emergency pill
(D) IVF method

Feminist research aims to

(1)  Enquire into the origin and
basis of the discriminatory
practices against women.

(i)  Expose the patriarchal tools of
socio-cultural and economic
practices of family and society
that lead to  women’s
suppression

(i) Women are brought from
visibility to invisibility.

(iv) Provide data on most of the
sensitive problems of women’s
issue.

Codes :

(A) (i) and (ii) only correct

(B) (iii) only correct

(C) (1) and (iii) only correct

(D) (i), (i) and (iv) only correct
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10.

What are the steps made by
government of India to improve
literacy rate ?

(i) Free education programmes to
poor people.

(i)  Setting up of new schools and
colleges.

(iii) Several committees formed to
ensure proper utilization of
funds.

(iv) Setting up of English medium
schools.

Codes :

(A) (i) and (iii) are correct

(B) (i), (ii), (i11) and (iv) are correct

(C) (iv) only correct

(D) (i), (i) and (iv) are correct

Assertion (A): The feminist
approach is reflective of larger
transformations in the
perceptions and constructions
of social reality.

Reason (R) : Feminist  scholars
are more activists.
Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation of
(A).

(B) (A) is true, but (R) is false and
(R) is the correct explanation of

(A).
(C) (A) is true, but (R) is false and
(R) is not the correct

explanation of (A).
(D) Both (A) and (R) are false.

According to 2011 census which
state has (0-6 years) the highest child
sex ratio

(A) Kerala

(B) West Bengal
(C) Chhattisgarh
(D) Mizoram

Paper-I111

11.

12.

13.

Assertion (A) : Gender budget tends
to focus more on the needs of
women and girls than those on
men and boys.

Reason (R) : Women and qgirls
are usually at a disadvantaged
position economically and in
many other ways.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) Both (A) and (R) are true and
(R) is the correct explanation
for (A).

(D) Both (A) and (R) are true and
(R) is not the correct
explanation for (A).

Which of the following statement is

related to empowerment of women ?

(1) Enhance self esteem and self
confidence.

(i) Building a positive image of
women.

(iii) Enable women to work in the
private sphere.

(iv) Providing knowledge and skills
for economic independence.

Codes :

(A) (i) and (ii) only

(B) (i), (i) and (iii) only

(C) (i) and (iii) only

(D) (i), (ii) and (iv) only

Assertion (A): Girls lag behind
Boys at all levels of education.

Reason (R) : In India the majority
of children who leave school
without completing the primary
education are girls.

Codes :

(A) Both (A) and (R) are false.

(B) (A)istrue, but (R) is false.

(C) Both (A) and (R) are true and
(R) is the correct explanation
for (A).

(D) Both (A) and (R) are true, but
(R) is not the correct
explanation for (A).
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8.

10.

IRA WHR FRT TRl &l 8T H

TR & fo1d o7 5 3 T 2

(i) T= oM & o fyes foen
FHEHT |

(i) o TpoT T IS Sl ST |

(iii) T F1 Stad ST GHET FA
% o aga 9 afafaat nfed @t
TE |

(iv) 3OS ATem & el e o6
™ |

ETE
(A) (i) 2 (iii) @& € |

(B) (i), (i), (iii) 2% (iv) W & |
(C) oA (iv) T T |

(D) (i), (ii) 3 (iv) W& & |

AfiepeE (A) ;AR g fteenion
AT IRAiaehdl & STaarT
T ST H ST 9 W07
1 Hfeifers € |

R (R) ;. ARER fagm ST
Hihgemal & |

Elg:

(A) (A) 3R (R) aF1 T € &R (R),
(A) = TEl A E |

(B) (A) ¥F &, W= (R) 38H & 3R
(R), (A) & T&t A= T |

(C) (A) T g, = (R) 38 ¥ 3%
(R), (A) = Tel AT & & |

(D) (A) 3R (R) 3T 3EA & |

2011 Sl STUMT % AR g T §
et forT 31T (0-6 a9) 3tferehes € 2

(A) F

(B) ufvem et
(C) wraTE
(D) fosim
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11.

12.

13.

AfHeT (A) AT SN e AR
ASH H SRl & Tog S
T ASHAT Bl TEAT T ATET
T e L I & |

FHRIT (R) . fot e arefwat
HHEFT 9 W AT ®T T a0
Tgd ¥ T AH B ITATIHR
fefaded € |

ETE

(A) (A) 3R (R) I TF & |

(B) (A) 3R (R) 3T A & |

(C) (A) R (R) i & & 3R (R),
(A) = TEl A E |

(D) (A) 3R (R) 3H & & 3R (R),
(A) F TE AT TEl & |

ffefad ® 9 %9 @1 w0 o 5

TRTHIHOT § T & 2

(i) oeH WHE qA e fowerd
e |

(i) To=r = FFRES (FF) B
e T |

(iii) fordt =1 fh &7 § w1 e &
fort |l ST |

(iv) oTfIes e % o S e
SHIRTEA YT T |

FE :

(A) s (i) 3 (ii)

(B) et (i), (i) 2 (iii)

(C) et (i) 3 (iii)

(D) = (i), (ii) R (iv)

aAfiper (A) - B & o W W
TABTE STetehi T T &t € |
&HROT (R) : IRA H, AT e
STt fore 9t foper SR et BT 39

&, orefepal & |

(A) (A) 3R (R) 3T 3 € |

(B) (A) T & W (R) AT |

(C) (A) ¥R (R) 3 & & 3iR (R),
(A) Ft T& AT E |

(D) (A) R (R) 3T T € X (R),
(A) &l e = T T |
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14. Match the items from List—1and Il :

List— 1| List— 11
a. Equal i. 1955
Remuneration
Act
b. The Hindu ii. 1961
marriage Act
c. The Dowry iii. 1956
Prohibition Act
d. The Immoral iv. 1976
Traffic
(prevention) Act
Codes :
a b c d
(A ivid i
B) i i i v
< i i i v
(D) v ai i i
15. Match the following from List — I and
List—1I:
List— 1| List— 11
a. Human Rights i. December 1
Day
b. White Ribbon ii. July 11"
Day
c. World AIDS iii. November 25"
Day
d. Population Day iv. December 10"
Codes :
a b c d
(A iv il i ii
B) i v i ii
< i i i v
(D) i i i iv
16. Women’s liberation requires

Paper-I111

separation from Men ! who among

the following pair of thinkers

propounded this idea ?

(A) Simone de beauvoir and Betty
Friedan

(B)
(©)

(D)

Mary Daly and Luce Irigary
Carol Gilligan and Catherine
Mackinnon

Nancy Chodorow and Clara
Zetkin

17.

18.

19.

20.

What do you mean by sexual

harassment at work place ?

(i)  Physical contact and advances

(i) A demand or request for sexual
favours.

(iii) Sexual coloured remarks

(iv) Showing pornography

Codes :

(A) (i) and (ii) are correct

(B) (ii) and (iii) are correct

(C) (i), (i) and (iii) are correct

(D) (i), (ii), (i11) and (iv) are correct

The research which relies on first
hand observation without due regard
to systems and theory is termed as
(A) Experimental Research

(B) Exploratory Research

(C) Descriptive Research

(D) Explanatory Research

Match the following ideas with their

respective theories :

List—1 List— 11

a. Patriarchy, i. Liberal
Reproductive feminism
technology

b. Rationality, ii. Radical
freedom feminism

c. Alienation, iii. Socialist
class struggle feminism

d. Division of iv. Marxist
labour, unified feminism
and dual system

Codes :

a b c d

A) i i iv il

B) i i v

C) it i v

(D) i i iv i

“The overthrow of the mother right
was the world historical defeat of the
female sex”. In which of the following
book, this statement was made :

(A)
(B)
(©)
(D)

Das Capital

The Reproduction of Mothering
Of women born

The origin of the family,
private property and the State
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14. gt — | 3R gEr — || § =T & gAferd
ﬁ'

15.

16.

=t - | = - 1
a. 9ge qstHes i 1955
At
feg foame afufem i, 1961
&1 ufeuy rfuf=e iii. 1956

d. Rfde® g =R iv. 1976
() erfufaam

T

(=N

o o

a b c d
(A iv i i i
(B) i i i v
() i i i v
(D) iv i i i
Tt — | gt — |1 % 9rer goferd a1
= - | = - 1
a. THEMEHR Kad i, Teet
fegm
ii. 11 STeme
iii. 25 RN
iv. 10 TR

b. g Raw fgem
c. ford ugH fgaq
d. e g
HT

(A) v i i
B) Qi v i i
©) i i i v
() i i i v

‘et s T & ford qout & gerehar
FH JMAYIHAT & |’ Taament o Fefarad
T § H foRe I8 foar wfqunisa T
g7

(A) faa= < foaten ud St wied

(B) = Seit wel epet sy

(C) et RTeii Ud e A=
(D) = SRR TS FART STefeh
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17.

18.

19.

20.

FEEA W AME SgSTS ¥ AT F

(i) IRIRE T a1 vesrg

(i) i Ty & ford | ar feea
(iii) ifer femforat

(iv) STeliet ®iet fe@etr T

FT: ‘

(A) (i) 3 (i) T T |

(B) (i) 3 (iii) W € |

(©) (i), (ii) (i) W& 1

(D) (i), (ii), (iii) 3% (iv) T & |
yonferd (Few) @en fosra W gara
=21 B o B 1 el 31 B G
(TTERATF) W R & aren sy s
FHECTT & ?

(A) TITES Iy

(B) 3TAYUTCH Iy

(C) ToeRumeH oy

(D) AATHS MY

gEl o @ foemt & e 9 s

grafua fagTar & are gafed a1
= - | -1l
a. TUgEEn, WSH, i SSROR
enfiTeh! TvETe
b. ehvI, WA= i, SUeR!
AR
c. fou=ry, sr-day i, FHSER
AR
d. o faamE, iv. TR
Tehihe a9 54 EINCICY
e
- T

a b c d
(A) i i iv il
B) i Qi i v
(C) iioniv i
(D) i i v i
“Ht % SN H W HHA S forT
i Afverh Wfelias W™ € 17 98 o
frefafed & 9 fow g | fear

(C) 3% gv= a=
(D) = SRR i & hivel, wae
WYt UUg S R
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21.

22,

23.

Manushi is a

(A) Newspaper

(B) Magazine

(©) Film

(D) TV Programme

Match the items from List— 1 and Il :

List -1 List— 11

a. Patriarchal i. Property
devolves from
mother to

daughter  as
well as family
line runs the
same way.
Power rests
with the eldest
female in the
family

b. Matriarchal ii.

c. Patrilineal iii. Power rests with
the eldest male
in the family

d. Matrilineal iv. Property

devolves from
father to son as
well as family
(name line) runs
the same way

Codes :

a b c d
(2 N | | B AVAR
B) i il i iv
©) v i i i
(D) i i v

“One is not born but rather becomes
awoman”.

Who is the author of the above
statement among the following
feminist thinkers ?

(A) John Stuart Mill

(B) Betty Friedan

(C) Simone de Beauvoir
(D) Shulamith Firestone

Paper-I111

24,

25.

26.

Assertion (A): The ideal of joint
family cannot be sustained
because of problems in
maintaining harmony  of
interpersonal relations.

Reason (R) : Forms of the joint
family have been modified
because  women  members
within the family demand a re-
interpretation of its functions.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are false.

(C) Both (A) and (R) are correct and
(R) is the correct explanation
for (A).

(D) Both (A) and (R) are correct

but (R) is not the correct
explanation of (A).

Which of the following statement is
correct ?

(A) Unstructured interviews lead to
a waste amount of quantitative
data.

(B) The objectives of study and
nature of subject matter jointly
determine the method of data
collection.

(C) Social survey and interview
method cannot be  used
simultaneously.

(D) Content analysis is the best way
to collect data on women issues.

What is LPG ?

(A) Liberal Processing
Globalisation

(B) Liberalization Poverty
Globalization

(C) Liberalization, Privatisation

and Globalisation
(D) Low Pressured Gas
D-74-12



21, AW FTE?
(A) THERT
(B) b
(C) fTrew
(D) Zrr FEwH
22, gl — | G - || 9 & 9&T ot gAferd
ol
=i - | =t - 1
a. Tugodens 0. o W 9
i oot St €
I W &
IRER w9
WERT Ued o
e o & ot
TAE |
b. TgET® i, URIR § gEd
e Sl g
& T HT @l
T
c. TUgFea fii. TRER ¥ g o
L Lo
I & I gl
TAE |
d. TgEes iv. g fudr 9 g
T 9T < A &
3 IRER i a9
TRERT Y& % &
A E § |
% :
a b c d
(A Qi i v
(B) i i i v
€ v i Qi i
D) i Qi i v
23, “9W S W &l el &, afew Miad g
T
ST U % TGS NG AR ETE!
foramni H A A & ?
(A) SF w231 et
(B) e
(C) To9M 73T
(D) geHd HEEH
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24.

25.

26.

At (A) @ 99 URER H
Facafeds T I WEEAT
T @ § GEEN 84 % SR
T UNEOR & AR ® Fad
A E T ST AT E |

HRT (R) . T URER & et
H Getaa far T € e
IR & Aeel & 7 ITF

1T <l TIATET Sl T H ¢ |

(A) (A)FR(R) T T T |

(B) (A) 3R (R) I TToid € |

(C) (A) 3R (R) zHi W & 3}
(R), (A) & T&t == € |

(D) (A) R (R) I @& & W=
(R), (A) =l T&r =& Tel ¢ |

e & 9 ®i9 91 w9 Fel & ?

(A) FERMET WETER TR "ET H
T

(B) oTerS % Ieed al fova wERA
H WET Thy IATHST WUEUT Hf
TSI MR X € |

(C) UifseF TaRTor  dem TRk
TEIq T W ST T
ST WA T |

(D) foawmeg fovemor ofeemet &
TrEtyd e W Sfergl Tt

T & ST TR & |

Tet O S T E 2
(A) ToTaer TG ey
(B) foieReiresiyM, Uieel Telleeigsis

(C) foTeReTeSIvE, WEderesiv  Ud
TACESI

(D) & WRE T
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27.

28.

29.

30.

Issue of women’s citizenship relate

to

(i) Power

(i)  Autonomy

(ili) Choice to live as free and
participating citizens.

(iv) Politeness

Codes :

(A) (), (ii) and (iii) only

(B) (i) and (ii) only

(C) (iii) and (iv) only

(D) (i) and (iii) only

What do you ‘De-

regulation” ?

(A) Existence of private market

(B) Regulations by civil society

(C) Existence of safety nets

(D) Government will control the
markets

mean by

Match the items from List — | and Il

given below :
List -1 List—11
a. Barkha Dutt i. Hindustan
Times
b. Mrinal ii. Print-media
Pandey
c. ArunaRoy iii. UGC
d. Armaity iv. RTI Act
Desai
Codes :
a b c d
(A) i i iv i
(B) i i iv i
€ v i i i
(D) iii i i v

What is not meant by Feminisation of

poverty ?

(A) women workers excluded and
secluded from higher wages.

(B) work for long hours and low
wages.

(C) lack of property / land rights.

(D) women’s economic
independence.

Paper-I111
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31.

32.

33.

34.

35.

Assertion (A): The challenges of
women  entrepreneurs  are
higher than men entrepreneurs.

Reason (R) : Women are restricted
due to social norms and family
responsibilities.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are false.

(C) (A)is correct (R) is false.

(D) Both (A) and (R) are correct
and (R) is the correct
explanation for (A).

Which is not the correct statement

relating to women’s job satisfaction ?

(A) Women’s work is visible and
recognized.

(B) Women’s work is invisible and
not recognized

(C) Sex discrimination

(D) Gender division of labour

What is the recent gender related

Index that have been developed and

used by United Nations in 2010 :

(A) Gender Related Developed
Index (GDI)

(B) Gender Inequality Index (GlII)

(C) Gender Empowerment Measure
(GEM)

(D) Inequality adjusted Human
Development Index (IHDI)

What is the Bread Winner Paradigm ?

(A) Man is the main bread winner

(B) Woman is the main bread
winner

(C) Women headed families

(D) Elder people lead the family

Assertion (A): The impact of
globalisation and technology
on rural women is negative.

Reason (R) : Women of rural areas
are displaced due to upgradation
of technology, automation and
adoption of high-tech.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are correct
(R) is the correct explanation.

(C) Both (A) and (R) are false.

(D) Both (A) and (R) are correct but
(R) is not the correct explanation.
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217.

28.

29.

30.

Tl st ARt o1 a7 fohad Traf-ad

T?

() @

(i) waTEa

(i) @a= qen UfquiTr & 9t
IR % €9 H @ H fashed

(iv) faman

FT

(A Fa (i), (ii) 317 (iii)

(B) e (i) 31 (ii)

(C) e (iii) 3% (iv)

(D) et (i) 3 (iii)

g offafama ey ¥

o € ?

(A) 95Tt SR @l T

(B) AT @oST 51T fafeme

(C) gl STt ot farm=ar

(D) WHR H T IR TSR H
et et &

T — | B g — 11 3 |1 guferd &
= - | = - 1
T T i fegwH e
g O i, e Hitean
3THUTT 3 iii. S

AT SHE iV, TR 2 3T

o o o

B!

a b c d
A i iv i
(B) i i iv i
© v i i i
(D) iii i v

TREAT & SAHIOT B 37 7 e ¢ ?

(A) TR FHF STIR A T T
T AR TAT T A TEE |

(B) <l wwg T e weigd % ford
FT

(C) Tmta/qa ATPRT & 3T9a
(D) Torai =i anferes wa=ar
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31.

32.

33.

34.

35.

AT (A) : TOT SEHAT w3
Afeet SafHar s gRifaar sfus € |

HRT (R) . WM WSS e
qienes fSriiar o ot e
Hfastd gl € |

R s

(A) (A) 3R (R) I W& € |

(B) (A) 3T (R) 31 ToAd & |

(C) (A)TI& 3R (R)TAE |

(D) (A) W%R)ﬁﬂﬁ%ﬁ?(m,
(A) &l Tel AT |

ol & 9 SO T qrad 8 H

I T ¢ ?

(A) o= 1 FE gIHE T A= € |

(B) fordi & i 3w qAM WG I T |

(C) forta dewma

(D) =\ I AT foe=

IR L GRT a9 2010 H foeptaa o
ST R WM drenm dcketE for
T GEhich F1 8 ?

(A) %wﬁaﬁﬁmm(ﬁé

(B) Toria ST|MaT gaehish (ST 3T
37T%)
(C) forira T9meriieeoT 719 (ST T TH)

(D) STEHFAT — GHEIN A (O
Y (31T TF T 37TE)
qTeTTehall U T & ?
(A) TE T&T TeH ¢ |
(B) T =T UretehT & |
(C) < muH uRar
(D) =a%h AN URER T Aged R € |
afipeE (A) : wHir feE W
AYSATHIOT T URNATR BT T
THRIHAE & |
&I (R : TTEOT &S o T,
& I, WETaar 3K
I UEnfiTen! sl 3R o §
forenya g T |
% :
(A) (A)#iR (R) 3 W € |
(B) (A) 3T (R) =T @&l & 3R (R)
AT & |
(C) (A) AR (R)TFI T |
(D) (A) #X .(Fg_) T €, W (R) Wl
|

AT
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36.

37.

38.

Assertion (A): The average Indian
women bears her first child
before she is 22 years old.

Reason (R) : Women have little
control over her own fertility
and reproductive health.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are true (R) is
the correct explanation for (A).

(C) Both (A) and (R) are true (R) is
not the correct explanation for
(A).

(D) Both (A) and (R) are false.

Match the List — | and List — 11 :

List—1 List— 11
a. Oestrogen i. Iron deficiency
b. Anaemia ii. Diabetics
c. Insulin iii. Contraceptive
d. 1UD iv. Female Hormone
Codes :

a b c d

(A) iv i i ii
B) iv i T
C© v i
(D) i i v

Match the List — I with List — Il given
below :

List—1 List— 11
(Prominent (Organizations)
women)
a. Chanda i. Bicon India
Kochhar Ltd.
b. Indra Nooyi ii. ICICI Bank
c. Ekta Kapoor iii. Pepsico
d. Kiran iv. T.V. Serials
Mazumdar
Shaw
Codes :
a b c d
(A i i iv i
B) i v i ii
(o) I TR T [ iv
D) i i v il
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39.

40.

41.

42.

Assertion (A): The difference
between male and female
reproductive  systems  have
always Dbeen an important
consideration in health care
delivery.

Reason (R) : Around the world

half a million women continue
to die each year as a direct
consequence of pregnancy and
child birth.

Codes :

(A) Both (A) and (R) are true.

(B) (A)istrue (R) is false.

(C) Both (A) and (R) are true, (R) is
the correct explanation for (A).

(D) Both (A) and (R) are false.

How can gender disparities in pay

scales be reduced ?

(A) Integrating jobs, instituting pay
equity and job evaluation

(B) Job evaluation, job satisfaction
and pay as per work.

(C) Creating capital accumulation
and assets.

(D) Partnership  and
biometric system

The Child Marriage Act amended in

____year raised the minimum age of

marriage for girls from 15 to 18 years

(A) 1986 (B) 1976

(C) 1929 (D) 1991

What are the key issues to be taken

through monitoring and social /

community credit for girl child

development ?

(i) Prevention of female foeticide /
infanticide

(if)  Health and nutrition

following

(iii) Education for the girl child

(iv) Abolition of child marriage,
exploitation and violence

Codes :

(A) (i), (i), (iii) only

(B) (i) only

(C) (iii) and (iv) only
(D) (), (i), (iii), (iv)
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36.

37.

38.

Ao (A) © TF HEd IRAF AR
3 TEet g=d Hl 22 TG H Y
B ¥ g S ol € |

R (R) : Tomt @ STl A
ST TN U WeT W TEd
F FEFOT e € |

ETE

(A) (A) 3R (R) I AT |

(B) (A) 3R (R) 3HI = € 31X (R),
(A) Tl &l = ¢ |

(C) (A) @R (R) 3 &7 & = (R),
(A) 1 TE AT T E

(D) (A) 3T (R) 31 TTerd € |

T - |ﬁg€ﬁ 1 o QT AT e

e - =it - 1

a. Q@Tﬂ? i, ol o

b. TR ii. Tyde

c. T iii. TR

d. g iv. B EEH

& !

a b c d

(A iv i i i

(B) iv i i i

(C) i v i il

D) i i i v

g - |a$r1§ﬁ || 3 | gaferd a1

Tt —

= - 1
(FTe)

ElECI B o))
fafres

(=%

&
afgemd)
a. TS B i.
b. =T i, oTe g o
3 I
Safget
.. yREEs

C. THAHE i
d. o TEER v
He

(A i i v i
(B) i v i il
(€ i i i v
D) i Qi v i
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39.

40.

41.

42.

At (A) : TBT q HigaAT TSt
[ o T TR, W@ @I

UL & A T g9 § Aoyl
fa= @ |

R (R)  fove R H e
ot feRt miyRor qor s<9 &
S % G IROTHREEY Yo ay
A E |

e

(A) (A) 3R (R) I T & |

(B) (A)FTE 3R (R) JEIE |

(©) (A) &R (R) Ml & € 3R (R),
(A) Ft T& AT E |

(D) (A) 3T (R) 31 1 € |

AT H forria faumansti st | T
WWWW%’>
(A) HET B THHO,  oaT  GHA

wﬁamﬁﬁ@ﬁ)w
o |
(B) aara‘ac—;ﬁ? FE A R FE
|
(C) Tﬁu’wwqﬁamﬁzﬁww|
(D) WERRI qUT g Hih FoTedr i
ST BT |

qA TgaE ofuttEm, St @9 H
Teiiferd e T, F afereRret < for e
A M 15 T 18 AT AT |
(A) 1986 (B) 1976
(C) 1929 (D) 1991

FMADT / T TEeS & [ahE & o

R T e/ g

(hfee) & ST 32T T et T e

FE?

(i) wferl yoeer / Ry g@n =t
T

(i) e qr o

(iii) =nferepr o for2r forem

(iv) a1 foame, wmoor wad f&ar @
Sl

T

(A) e (i), (i), (iii)

(B) e (i)

(C) e (iii) 3T (iv)

(D) (), (i), (i), (iv)
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43.

44,

45.

46.

47.

Identify the inappropriate technology
from the given :

(A) Capital saving technology

(B) Labour intensive technology
(C) Indigenous technology

(D) Capital intensive technology

Assertion (A) : Women share
double the burden as producers

of human race as well as
supporters and sustainers of
human life.

Reason (R) : Women’s

contribution in the economic
sphere remain invisible.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue (R) is false.

(D) (A) isfalse (R) is true.

Who is the present Chairperson of
the Central Social Welfare Board ?
(A) Prema Cariappa

(B) Krishna Tirath

(C) Mohini Giri

(D) Meira Kumar

What are the measures adopted by
the Ministry of HRD to enhance the
number of women scientists ?

(A) Ninth  Five Year Plan
emphasized on Science and
Technology.

(B) Establishment of independent
scientific ~ commission  for
women.

(C) Enhancement of fellowships /
scholarships for women
scientists under the Eleventh
Five Year Plan.

(D) Sixth Five Year Plan gave
priority for women scientists.

Among the following States which
one has literacy rate below 90%
according to 2011 census

(A) Kerala (B) Mizoram
(C) Lakshadweep (D) Goa
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48.

49.

50.

51.

Among the following, which pair is
not correctly matched ?
(A) Medha Patkar — Narmada
Bachao
Andolan
Chipko
Movement
Feminist
Movement
SEWA
Movement

(B) Sarla Behen -
(C) Arundhati Roy -

(D) Ela Bhatt -

What do you mean by gender-neutral

technology ?

(A) Gender — balanced technology

(B) Technology, providing priority
to women’s role

(C) Technology, providing priority
to men’s role

(D) Technology, providing priority
to technical people

An NGO seeking foreign funding

must be registered under :

(i) Registration under Companies
Act 1956.

(i)  Registration under
registration act 1860

(iii) Foreign Contribution
Regulation Act

(iv) Registration under
Social Welfare Board.

Codes :

(A) (i) and (ii) only

(B) (i), (ii) and (iii) only

(C) (iii) only

(D) (i) and (iv) only

societies

Central

What are the sustainable livelihoods ?

(A) It comprises of capabilities,
assets and activities required
for living life free from stress.

(B) It creates both formal and
informal institutions.

(C) It comprises and creates assets
and outcomes.

(D) Poverty and
degradation.

environmental
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43.

44,

45.

46.

47.

fefeifad & 9 g UieiiTenl

YT ;

(A) UST s drTen

(B) &I~ Wi

(C) =M Wttt

(D) It 3 vt

iU (A) : Afeed 3 TR % IR
HT e HIAl & ;. TG ST B
ST BT SR THe -9 A
STe Bl SToel Ue STRstitadr
TR AT |

FHROT(R) 7 & o Afeomst
bl TSI éigbdqg“'lldl %‘ |

ETE

(A) (A) @ (R) 591 @& E |

(B) (A) @ (R) 31 ot € |

(C) (A) W&l g, (R) T € |

(D) (A)Tea e, (R) T T |

FHEE AT FHeaI0 S o TaH STeded

I 1Y TEE-T

(A) W1 HRFT

(B) TR

(C) wifet Y

(D) HRTFHR

HfgeT SRt ® W@ ¥ gfg we %

T OHe 9arE g™ oo 5T

e ¥ 9 & 91 SuE fwar T

T

(A) =& GEaE A 9 fase @R
TEnfiTen! WX et {5 T |

(B) wfEemsti & fow e ¥ =
ST < TG |

(C) ™Redl Ugedi™ AT H AT
SRl & T Sl T hioR 1T
Crail

(D) ®edl Ygedig IisFT H o Hfgem
AR ot TrerfteRar & TE |

2011 & SFIOAT % AR AfarEd

Tt B T T H 9eRer ¥ 90% d

FE?

(A) A

(C) wwewm

(B) fiH
(D) Tiem
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48.

49.

50.

51.

frfefaa & @ @i @ g gafed 7@l

T

(A\) BT TTesT ~ e wEned
CIHCE]

(B) T )& —  fouet
EIHC

(C) 3r&eret I —  TRER iR

(D) T wiE — T 3N

forder Wi @ g wr gEE

&7

(A) ForT-Tgferd st

(B) dfeemet & ek i wmATHeRT
TS Y Tl TIfiTent

(C) & I YA Sl WrIfhdT UgH
T ST TR

(D) I AT I ATATHHAT UG
A ST Vet

fader @ fomuioor & =g W WHK

B ?

(i) o TFEE, 1956 & 3idTd

(i) HrErEe oSt efufam, 1860 &
3T

foeett efie fafemm etfufem
% FFad
HEIT FHST Hed0T &I & aid

(iii)

(iv)
HT
(A) = (i) 3R (i)
(B) e (i), (if) 3 (iii)
(C) e (i)

(D) e (i) 2R (iv)

TS ST T € 2

(A) T@H TE ¥ g Siad S &
Tfafateat st & |

(B) T® oiU=iRe Tl SN
et A e €

(C) =¥ uREwfar 3R aRoms snfHer
€ 3R 98 3¢ A € |

(D) RIS qeT gATERTiE T |
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52.

53.

54.

55.

What do you mean by “Glass ceiling’ ?

(i)  The invisible barrier preventing
women from ascending to
leadership positions.

(i)  Gender constraints

(iii)  Chilly climate
(iv) Lack of social capital
Codes :

(A) (i) and (ii) are correct

(B) (iii) and (ii) are false

(C) (i), (i), (iii) and (iv) are correct
(D) Only (iii) is correct

Which of the following statements is

incorrect ?

(A) Laws are adequate but women
need to engage with law.

(B) Recognition and de-recognition
disqualify women with disabilities
from accessing legal rights.

(C) Personal laws and politics
hinder the development of a
uniform civil code.

(D) Indian  women  experience
uniform citizenship rights.

What is not the characteristics of
Structural Adjustment Programme
(SAP) ?

(A) Privatisation

(B) Non-withdrawal of safety nets
(C) Globalization

(D) De regulation of the market

What is included in reproductive

activities ?

(i) Marketing

(i)  Food preparation

(iii) Child care and education

(iv) Health care and
maintenance.

Mark the correct answer from the

codes given below :

home

Codes :
(A) (), (i), (iii), (iv)
(B) (iii) only

(C) (i), (i), (iv) only
(D) (i) and (ii) only
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56.

57.

58.

59.

Who is the author of Book
‘Discrimination’ ?
(A) Gary Becker (B) Marshal

(C) Adam Smith (D) Robinson

“The assumption of your own identity
equality, and even political power does
not mean you stop needing to love, and
be loved by, a man, or that you stop
carrying for your own kids.”
Which of the following
feminists made this statement :
(A) Betty Friedan

(B) Harriet Taylor

(C) Zillah Eisenstein

(D) Elizabeth Holtzman

Which is not the gender implications

of digital divide ?

(A) women represent 10% of
researchers and 5% of managers
in areas of technology.

(B) lack of training does not allow
them to  participate in
technology process.

(C) become better wives and better
mothers.

(D) access to and use of the internet
is limited.

liberal

Match the paradigm shifts in planning
for women’s advancement through
Five Year Plans :

List—1 List— 11
(Plan Period)  (Paradigm Shifts)
a. 6™ Plan i. Beneficiary oriented
programme
b. 7" Plan ii. Women and
Development
c. 8" Plan iii.from development to

empowerment
d. 11" Plan iv. Gender empowerment
and gender equity

Codes :

a b c d
(2N I T [T Y} i
(B) i i i v
© i i i v
(D) iv i i i
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52.

53.

54.

55.

“TATE HifeAT” § S T G € ?

(i) dwfeemstl & Aged ol W W
T | 37T aTg v

(i) T e

(iii) Teelt TN

(iv) WIS Uit ST STTel

FT

(A) (i) AR (i) T E |

(B) (iii) 3 (ii) T € |

(C) (i), (ii), (iii) 3 (iv) T & |

(D) e (iii) T T |

ffefad & | i |1 2 Tord € ?

(A) FHFF T & W f&ai it wEA
% FTY T I ST & |

(B) YT e fo-%aiehor 31T e
T HAT AR T AT ISH P
31T i R € |

(C) doEfeRIsh A qaT ISHI THET
AR Tfear o o H Taes
HA T |

(D) 9RdE fo@t # ggeT AR
TP U T |

THIRA USSHEHS WY (T T °Y) &
ferereraT o =&t & 2

(A) st

(B) g ST o 3-Farc

(C) ardteTor

(D) IR 1-fafafhdmesoTr

TSI Tidfeteat § .o At e
€2

(i) TR FE

(i) S AR

(iii) =TT SETeT T T

(iv) g 3@ye 3R e &
T 52 el T TEl I R fared
HT

(A) (i), (i), (iii), (iv)

(B) ot (i)

(C) e (i), (iii) 3% (iv)

(D) Fat (i) 3 (ii)
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56.

S7.

58.

TR & ol oT@eh i & ?
(A) T (B) =W
(C) usH Ty (D) o=

“ITRI ST TET (AT STREee), T
3 TSI SIfeRT bl oF ol Y o
3T AT Tl 6 ST YT FHA AT T
FRT U9 UM ST T <, AT fh 3
3T Feal B ST HAT AN S |7
g Fo Frefafea 4 9 fFg SeRamR!
TR BT &

(A) gt thieH

(B) &fme e’

(C) oot 3megTem

(D) Uy geesTae

fesiiea fearss 1 vttt [Mieare w9 @

T E?

(A) ot vt & & o sneearet
F 10% R TSR *H 5% H
it et € |

(B) TINIETOT T T 3= IR
TihaT § YATSRY el e ST & |

(C) S&ay ufcat T Seak | & Tt © |

(D) FeHT TqF U AT TR SUANT
Hifa & |

59. fafir deedi FisFre § wfeenst i

WA & &g FasH | agerd gu aiaEE
! AT I

= - | =t - 1
(ST 2rafer) (CEGRRIRLIE)
a. gl i, e 397" R

RISEI
b. Qe ii. ATEeT ue fae

RISE)

C. e iii. fospra o == W ARy

ST TYTFIHOT
d. TREel  iv. TR GRIeReRIoT 3T form

RISEI THEAT
HT

a b c d

(A Qi i v i
B) ii i i v
(C) i i i v
(D) iv @i i i
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60.

61.

62.

Assertion (A) : Education is a
strong vehicle of women’s
equality and empowerment.

Reason (R) : Resource
mobilization and management
of mass education is a
challenge of Indian educators.

Codes :

(A) Both (A) and (R) are false.
(B) (A)istrue (R) is false.

(C) Both (A) and (R) are true.
(D) (A) isfalse (R) is true.

What is the main focus of gender

budget initiatives in India ?

(A) Women Component Plan

(B) Complimentary role for
effective convergence

(C) Proper utilization and
monitoring of funds  from
various development sectors.

(D) All of the above

What is the main reasons for women
being increasingly pushed to the un-
organised sector ?

(1) Lack of the opportunity to
acquire skills and training
which could facilitate
occupational shifts.

(i) Unequal structural conditions.

(ili) Women have to bear the major
burden of domestic chores.

(iv) Women lost jobs due to
globalisation processes.

Codes :

(A) (i) and (iv) are correct.

(B) (ii), (iii) and (i) are false.

(C) (iv) and (i) are correct.

(D) (), (i1), (iit) and (iv) are correct.
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63.

64.

65.

“If Men would.... Snap our chains....
They would find us more observant
daughters, more faithful wives, ....in
a word better citizens”

Which of the following feminist
thinkers made this statements :

(A) Robert Owen

(B) William Thompson
(C) Harriet Taylor

(D) Mary Wollstonecraft

Assertion (A): The Hindu
Succession Act 1956 has failed
to reduce social inequalities
among women.

Reason (R) : Religious traditions
and customary practices came
in conflict with the act.

Codes :

(A) (A)is true but (R) is false.
(B) Both (A) and (R) are ture.

(C) (A)is false, but (R) is true.
(D) Both (A) and (R) are false.

Which is the correct chronological
sequence of stages of development of
feminist research ?

(1) Research on gender as an
organizing principle in all
social systems.

(i) Research on sex differences
based on biological properties
of individuals.

(ili) Research based on
experiences.

(iv) Research on individual level
sex roles and socialization.

Mark the correct sequence from the
codes given below :

Codes :

(A) (D), (i), (iv), (iii)
(B) (iv), (iii), (i), (i)
(C) (i), (iv), (ii), (i)
(D) (i), (i), (iv), (1)

men’s
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60.

61.

62.

afirper (A) - forem,  wieemstt @t
T T TTRIehIoT B HITeRT
TAEH T |

FRO(R) : ARaE  REesr &
U GOl B S SR SR
TEYT S Bl AT © |

% :

(A) (A) 3R (R) I TeoAd & |

(B) (A)®rE, (R)Tae |

(C) (A) 3R (R) 3T Tl & |

(D) (A) 7o €, (R) &l & |

IRA H ST S5 STHAUT HT T

(g T & ?

(A) THF HUHS =

(B) TRIrEOT SIRTEROT ¥ X fHeRT

(C) fafy=r fompra et ¥ ffe=i ot
STad SUANT q9r MR (HieRT)

(D) ST

tyer & afyes g § R Afeenat

% ST & W UG & % SROT

FE ?

(i) =™ ° URedd &= & fou
AEIF  HIAT H I T
URTRI0T U A AT
I |

(i)  STEEE GrEAT fefaar |
(iii) wfeemen FRr AT W]
SHIFHIST ol TR |

(iv) OvdRor & Ukl % HROT
AfgeTatt sl Al T ZeT |

(A) (i) @ (iv) TR T |

(B) (i), (iii) &2 (i) ot € |
(C) (iv) 3R (i) W T |

(D) (i), (ii), (iii) T (iv) T & |
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63.

64.

65.

F T IR A%k e, STaT

fovaea oferdl, ... 989 H de

AR T |7

Tg Fu fEteiad AR fogm 5 9

ToarehT & 9

(A) < 3e

(B) Tafera® gmae=

(C) e e’

(D) T SR

afpem (A) ;e ITRMHR
S, 1956 AT % &=
AT TS & w0
T 3THA T € |

FHFRT (R) : e TERTST e
AN URmifear o A %
Y T AT T |

HT

(A) (A) T= ¢, R’ (R) STAE |
(B) (A) R (R)IM IFAT |
(C) (A) g, W< (R) T T |
(D) (A) 3R (R)3HT @A T |

ARIETE! WY % o W SFereet

&l HTATIShHS ShH T & 2

(i) = Qe et H
HIEagHRI (AT AR s
% ¥ H SUE (foiT) W Iy |

(i) =afr=i & Sifas o W
SR iR STeRT W I |

(iii) T & ST U SR I |

(iv) aafed® TR & wifte gaeerst
AT FHTSTHT T INY |

e 52 i ° Tt o ehT Tatad &

ETE

(A) (), (i), (iv), (iii)

(B) (i), (iii), (i), (i)

(C) (iii), (iv), (ii), (i)

(D) (iii), (i), (iv), (i)
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66. Match the items in List— | with List—11 ;

List -1 List—11
(Name of the book) (Author)
a. The position of i. Neera
women in  Hindu Desai
civilisation
b. Socialisation, ii. Nita
Education and women Kumar
explorations in
Gender identity
c. Women in modern iii. Karuna
India Chanana
d. Lessons from schools: iv. A.S.
The History of Altekar

Education in Benaras

Codes :

a b c d
(A) i iv i il
(B) iii i i iv
(©) v il i i
(D) i i v i

67. The reason for low literacy rate of
Dalit females is due to

(A) Continued monopolization of
resources by middle and upper
class groups.

(B) The stronger influence of
casteism in the rural areas

(C) The control of Dalit customs
over dalit women.

(D) All the above

68. Mark the correct sequence of “Data
Collection Techniques” arranged in
the descending order according to the
size of the sample
(A) mailed questionnaire, structured

interview, observation,

participant observation
observation, structured
interview, mailed questionnaire,
participant observation
participant observation,
observation, structured
interview, mail questionnaire
structured interview, mailed
questionnaire, observation
participant observation

(B)

(©)

(D)
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69. Muted group theory speaks about the
women’s
(A) educational status
(B) occupational status
(C) domination
(D) silence

70.  Which National Education Policy
gave impetus to women’s studies in
India ?

(A) Kothari Commission 1964-66

(B) National Educational Policy
1986

(C) Recent Education Policy

(D) Education Commission of 1882

71. Arrange the chronological sequence
of the following programmes and
acts related to children on the basis
of the year.

(1) Child Labour Prohibition and
Regulation Act

(i) Integrated Child Development
Services

(iii) Sarva Shiksha Abhian

(iv) Commission for Protection of

Codes :

Child Right Act
(A) (iv), (i), (i), (iii)
(B) (i), (i), (iii), (iv)
(C) (i), (iii), (1), (iv)
(D) (iii), (i), (1), (iv)

Read the passage and answer the following
questions (72-75) :

A closer analysis carried out by feminists
in recent years has revealed that the
dominant social relations are also part and
parcel of technology itself. We can no
longer argue  whether reproductive
technology or genetic technology as such
are good or bad; the very basic principles
of this technology have to be criticized no
less than its methods. These are based on
exploitation and subordination alike of
nature, women and other peoples
(colonies). In this context lies the inherent
sexist, racist and ultimately fascist bias of
the new reproductive technologies.
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66. Tl — | X Tl — Il H T /T I
gHferd &
=i - | =it - 1
(TEAH HT ATH) (T Eh)
a. I U Sf® gaF Q. AR
7 g Fafoemmesiem LEIE

b. WRTCTESIOM, TSP i, e
Uug gH ¢
TRICTRIY T SUeY
Meet=d

C. IFA T TS e iii. HHO

AT

d. oIGTH B et & iv. TUE.
et 3l T 31 3TeTeahT
TG

% :

a b c d

A i v i i

B) i i i v

©) iv i i i

() i Qi v i

67. ST & I AfgeTaTl i e HERAT &%

T HRUT FAATET :

(A) T 3T ST GUEl gRT SaTeT
T AT 3 @ THIET

(B) TTHIOT &35 T SaTg ol Ueet T
(C) sferd mfeemsti W Sferd-yamst
Teisror

(D) SwRIe

68. TUAT & STHR & AR 3TNl HT

3TTeRH fafed &Y

(A) UNT TATEH, WX IR,
TR, TEHT STt

(B) oTomcii, WX weehR, e
TS, TR STaeieh

(C) e STaciIeh, 3Taetih, T
GTeATehIR, Ul et

(D) Wfoa WreehR, Uud ST,
AT, TEHTT STeATHT
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69. T U Il Afeemsti A H
I H o1 Al ¢ |
(A) ifeTw TR
(B) =AEEITH T
(C) W

(D) T+t

70. 9Rd W HiEgem THFT B AL
forerr =ifa = wieenfea fopar 2
(A) ISR 3T, 1964-66
(B) T forem HifeT, 1986
(C) &TeT & =t foremr Aifq
(D) 1882 T TeTet 3TART

71.

T § T FEfatad wEsear aen

FYHTAT W TY H IR W
ST e | A FY

(1)

(i)
(iii)
(iv)

% :

¢ -

(A)
(B)
(©)
(D)

A H9 Uug wE faEE
CIBIRE

Tehighd Tt faehe TaTd

T freT AR

gt AR HRI A
FraaT

(iv), (i), (i), (iii)
(i), (i), (iii), (iv)
(i), (i), (i), (iv)
(iii), (i), (1), (iv)

e ferd TR Wt ufeu SR HEfARed e
SR : (X, 9. 72 ¥ 75 TF)

FRAEEr §RT &7 & a6t § f6U MU uH T
3T ¥ IE Ul 9ol ¢ Toh UeeT WISt Hee
W iRt o off 37T € | 39 9 W gy 37
TH &l H T [ 0 T BT H USHH
TIRNRTERT AT STETTe WEnfmen 37/ & a1 9 &;
Tq YrenfTeRl % gorya fagidr i st @
STHT 18T 519 Wb SAeh! Urarear sl sl ST
T | 3 vpta, Afectrel qum o= Al (S
% GHH T ¥ 0T 3T ST T S
€ | Fma formerd), Snfaerst den s
EIAETE! qaTE s 98y ¥ 3@ @i et € |
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Reproductive technology and genetic
engineering are based on the same
principles as physics and other sciences.
Like other sciences, they involve the
dissection of living organisms into ever
smaller particles, molecules, cells, nuclei,
genes, DNA and their  various
recombinations according to the plan of the
(male) engineer. In this process to select
desirable  elements and  eliminate
undesirable ones is crucial. In fact, without
the principle of selection and elimination
the whole technology of reproduction and
genetics would make no sense. What
purpose would a study of genetics serve if
not to promote the propagation of what are
considered to be desirable attributes and
the elimination of those seen as undesirable ?
This applies as much to human genetics as
to plant and animal genetics and applies
equally to reproductive technology, which
is based on the selection of fertile elements
(Sperm, ova) and their combination outside
the female body. This selection and
elimination would not be possible if those
living organisms were left intact and free to
regulate their reproduction in accordance
with their own desires, love and lust.

Carolyn Merchant finds a parallel to
the dissection and invasion of nature in the
torture of women in witch pogroms and
shows that both types of violence are
intrinsic to the method of modern science
and technology. Francis Bacon, founding
father of the modern scientific method,
perceived nature as a witch whose secrets
has to be extracted by force. Force and
violence constitute the invisible foundation
upon which modern science was built.
Hence violence against women in the witch
pogroms, and violence against nature
which was perceived as a woman.

72.

73.

74.

75.

What kind of analysis carried out by
feminists in recent years

(A) dominant social relations are
part and parcel of technology
itself

(B) social constraints are not
leading to gender
discrimination

(C) Exploitation and oppression are
in the roots of technology

(D) All above

The basic principles of reproductive
technology or genetic technology is

(A) exploitation and subordination
alike of nature, women and
other people

(B) superiority over inferiority
(C) hierarchy and valuation
(D) women’s reproductive role

What applies equally to reproductive
technology ?

(A) the selection of fertile elements
(B) the elimination of undesirable
(C) toselect desirable elements
(D) to regulate their reproduction

Assertion (A) : Francis Bacon
perceived that nature as a witch
whose secrets has to be
extracted by force.

Reason (R) : Force and violence
constitute the invisible
foundation. Hence violence

against women in the witch
pogroms and violence against
nature which was perceived as
a woman.

Codes :

(A) (A)is false (R) is true.
(B) Both (A) and (R) true.
(C) Both (A) and (R) false.
(D) (A)istrue (R) is false.
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EEEE 153115 o S O B | (N2
iRl 3 fagial W emaRa € A W
i o qen o= fome omeia € | o
fommt % o= quror ganst w, qe A
H ST & IR, DS UMeshed, Hiotood,
Tou, JoFerdrE, S T U qA b fang=
A | foedea A fMfed € 1 39 uhear
H gig-g qel B 999 IR TS doat
SO U B € | A wE 3R

0T & FGgTa o T ISt ST ST
TrRNRTeRT R & ST | ST W T
T T AT A T A B TR B H
IR T H R AT AT e A ST
TN FTATSHE Tl < AT R S,
T TEE BH W OWESE G B 2 38 wea
AT T 3T & AT Biel & TS 98y
Y UY] AR X AT B &; T4 F9 €9
T USHE WEifiTen T i, S U 9T ot
Teat & T Y AR-IRR o e 37k SIS
W, ] 8T & | AfS 37 Q0T agel i T
U7 HTHR H BIg A1 S, TN IS 6 6T
T IAH T ST, STRET 3R HTHa
gR1 frifd fepw SiH & foe e ot fear s
qr T 3R SfESHOT i A WA WWG TEl &t
T |

e Ade 3 GRAEA % AYgiesw
EHUS H Afgeell & Sciigd IR WP &
foreseT 3R sifasmvr o dfF TEEadr o §
T @ % I TR eMgHE foee @ik
uEifeR i fafet W o € 1 ey
AF UTATe & ST HIrTT S o THd
T TRAN & €9 H giehieqd fhar & 59
T Bl TAYSE RO gEAr § | MY
Tz =1 fmior 96 iR & =it s1gva g
W R T ¥ 1 I SIERHE % Afeh
RIS | Afecttal o Ufd &ar a2 Ui, e
TR % w0 H URehTead fhar T ¥, % i T
T 9 W YR el § |

wIfe
e

72.

73.

74.

75.
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TS & g9t § AREET §RT R TR

forgeteoT fepar T 2

(A) Ve G FEY @d Nt
o ot A= ST |

(B) wmiieh uidey ferm-oig Seo=t el
FA |

(€) ;ﬁwwmxﬁaﬁﬁﬁ%%ﬁ

|
(D) I &

ST TIeiiTent a1 TS Weifimest &

oryd Fasid & ;

(A) UHM, IR qAT T AT B
THE 9 T N7 T ST

(B) &l W ITan

(C) TRTTRH R Hodih

(D) wfEeTeT Ht FS=F JfHeH

TS UTEifTen! W) qHH 9 § 9497 A6
B E ?

(A) TSI Tl T

(B) TSI T SETHIOT

(C) T dawal &l =9

(D) 37U USTA T FHE=0T

AfuHeT (A) . HEE dFT F WP
T T STETRAT & & H gRhiead
frar & | e wwr & wu
AT HAT TS & |

HFROI(R) 9 a1 Gd age
AT H A A & |‘gﬁfm
SIGREAAT & AHeE sAhie |
TIRY & ufe fear o i e ARy
% w9 § ghieud far mr € %
Tiq féar afed gt & |

(A) (A) T & (R) @& € |
(B) (A) 3 (R) I W& € |
(C) (A) 3R (R) I Toid € |
(D) (A) T g (R) T € |

Paper-I111



Space For Rough Work

Paper-I11 24 D-74-12



